

Letting:

Florida Department of Transportation

12/03/2019

Page 1 of 1

Vendor Ranking

E8S24-R0

PM

November 19, 2019 02:30

Call Order: 011

Contract:

Turnpike District:

Counties: LAKE, ORANGE,

Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Contract Desc: Pressure Cleaning Service

08191119

TURNPIKE

Project(s): 19263917B08 (*)

41681117B05 43916817B04

Rank	Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	TERRA MAINTENANCE CO.	Responsive	Winning bid	\$147,011.18	100.00% Intent to AWA

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

POSTING DATE AND TIME: DECEMBER 3, 2019 AT 4:00 PM



Florida Department of Transportation



Tabulation of Bids

Page 1 of 3

Letting: 08191119 November 19, 2019 **Call Order:** 011 **Contract:** E8S24-R0

District: Turnpike Counties: LAKE, ORANGE, Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

TURNPIKE

Project(s): 19263917B08 (*)

Contract Descr: Pressure Cleaning Service

41681117B05
43916817B04

The work specified in this contract consists of providing all labor, materials, equipment, and incidentals necessary to perform pressure cleaning and other related cleaning services at various toll and administrative facilities located on the Floridas Turnpike (SR91) from Milepost 173.0 to Milepost 304.0; Martin Andersen Beachline Expressway (SR528) from Milepost 0.0 to Milepost 32.0; Seminole Expressway (SR417) from Milepost 37.7 to Milepost 55.0; Southern Connector Extension (SR417) from Milepost 0.0 to Milepost 6.5; Daniel Webster Western Beltway (SR429) from Milepost 0.0 to Milepost 43.0 and the Wekiva Parkway (SR429).

There will be NO Pre-Bid Conference for this Contract.

Line No / Item ID Alterna	Quantity Units	(1) TERRA MAINTENANCE CO.					
() indicates item is bid as Lump Sun		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	MISCELLANE	OUS ROUTINE MA	INTENANCE (MF	1)		ı	
0005 E101 72 MOBILIZATION (EMERGENCY RESPONSE)	2.000 EA	10.00000	20.00				
0010 E735 74 22 TOLL PLAZA (PRESSURE CLEAN) (TRAFFIC LANE)	2,017,140.000 SF	0.04000	80,685.60				
0015 E735 74 23 TOLL PLAZA (PRESSURE CLEAN (CANOPY)	894,402.000 SF	0.03000	26,832.06				
0020 E735 74 24 TOLL PLAZA (PRESSURE CLEAN) LANE) (REMOVE TAR/ASPHALT)	9,500.000 (TRAF SF	0.20000	1,900.00				
0025 E735 74 25 TOLL PLAZA (PRESSURE CLEAN (BUILDING, SIDEWALK, PAD, PAT		0.02000	14,515.40				
0030 E735 74 26 TOLL PLAZA (PRESSURE CLEAN) (CONCRETE APRON)	768,604.000 SF	0.03000	23,058.12				



Florida Department of Transportation

12/03/2019

Tabulation of Bids

Page 2 of 3

Letting:	08191119	November 19,	, 2019 Call Order: 017		Contract:		E8S24-R0	
Line No / Item I		te Quantity Units	(1) TERRA MAI	INTENANCE CO.				
() indicates item is	s bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount

SECTION: 0001 MISCELLANEOUS ROUTINE MAINTENANCE (MH)

0001 MISCELLANEOUS Section Totals: \$147,011.18

ROUTINE MAINTENANCE (MH)

Contract Grand Totals: \$147,011.18



Florida Department of Transportation

12/03/2019

Tabulation of Bids

Page 3 of 3

E8S24-R0

Letting: 08191119 November 19, 2019 **Call Order:** 011 **Contract:**

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.